50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Ilustrate the seven dimensions'of (07 Marks)
Briefly explain Amdahls law _ (05 Marks)
Explain two main measufes ,f dependability. ol (04 Marks)
Program runs in 10 secot ds on computer ‘A’ w1th 400MHZ clock, substantial increase in
the clock speed posslble “but would cause compu’fer ‘B’ to require 1.2 times as many clock
cycles as computer ‘A’. What should be the cl ck rate of computer ‘B’? For computer ‘B’ to
run the program i (04 Marks)

»»»»»»

(10 Marks)

(05 Marks)
(05 Marks)
Explain the different type of data hazards with ex %nple { (06 Marks)
With a neat diagram give ‘the basic structure of f'floating point unit using Tomasulo’s
algorithm and explain the'steps an instructio ‘ﬁgocs through in the approach (09 Marks)
Explain the dynamic 2-Bit branch predicti tate diagram. o (05 Marks)

iy f ) i
What is Branch T: rget Buffer? With neét diagram, explam the steps when using branch

target buffer for a simple five stage plpéhne . (10 Marks)
Suppose we have a VLIW that~ cQuld issue two memory reference, two FP operations, and
one 1ntegcr operation or branch i in‘every clock cyéle show an unrolled version of the loop
- ocessor. Unroll as rnany times as necessary to eliminate any
stalls ignore delayed branches: consider the MIPS ‘code as follows:

F0, O(R1) Sl

; BOQ, B2
vF4, O(R1)
“RI,R1,#-8..
R1,R2, LOOP"
£ % (05 Marks)
Write a note on value predictor.: (05 Marks)
PART - B
Explain taxonomy of parallel architecture according to Flynn. (05 Marks)
Explain directory based cache coherence for a distributed memory multiprocessor system
along with the sta -ansition diagram. (10 Marks)
Explain any one hardware primitive to implement synchronization. (05 Marks)
1of2




o P

10CS74

Discuss any two technique for reducing cache miss peﬂalty., 4 (08 Marks)
Assume we have a computer where CPI is 1.0, when all‘memory accesses hit in the cache.

The only data accesses are loads and stores, and these total 50% of the instructions. If the
miss penalty is 25clock cycles and miss rate is2%, how much faster would be computer if

all 1nstruct10ns were cache hlts" (08 Marks)
(04 Marks)

Which are the categories of advanced- tlmlzatlons of cache perfopmance" Explain any one
in detail. \

basic organization. ao Marks)

Explain the architecture of’ (08 Marks)
For the code given beiow y.fwhat are the dependenmes between S1 and S2? Is this loop

parallel? If not show how. to make it parallel.

(08 Marks)
(04 Marks)
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